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General Instructions :

(i) There are-a total of 26 questions and five sections in the question
paper. All questions are compulsory.

(ii) Section A contains questions number 1 to 5, Very short Answer
Type Questions of one mark each.

(iii) Section B contains questions number 6 to 10, Short Answer Type I
Questions of two marks each.

(iv) Section C contains questions number 11 to 22, Short Answer
Type Il Questions of three marks each.

(v) Section D contains question number 23, Value Based Question of
four marks.
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(vi) Section E contains questions number 24 to 26, Long Answer Type
questions of five marks each.

(vii) There is no overall choice in the question paper, however, an
internal choice is provided in one question of two marks, one
question of three marks and all three questions of five marks. An
examinee is to attempt any one of the questions out of the two
given in the question paper with the same question number.

gug —h
SECTION - A

|, s g T § e T R 1

Why are cucurbits categorized as monoecious plants ?

2. HSA GRI T o UIY H Weh Gt shid shl F, i@l sl SHICEY
(STHTSEY), STITd o7 | 1

Write the genotypic ratio of F, generation in a monohybrid
cross that was carried out by Mendel 1n a pea plant.

3. gEg 3 ABQ BEX 9 T IR b U4 shi 3T ol 3@
ShiTSTT | 1

Mention the patterns of inheritance exhibited by human ABO
blood group.

4. HHET H TgdEes AT egd TialeTn STishaT Tk AR hl
UL Fgd &l 3o 1 91 Il & ? Teh I §ATSU | 1

Why 1s secondary immune response more intense than the
primary response in humans ? Give a reason.
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5. AEd hl ThARE $gicH aYT Ieh-3H[cid ¥ Teh HEHcHS 3Tl
SAT3T | 1

Write one structural difference between the human functional
insulin and proinsulin.

dig — ¢

SECTION — B

6. Tordt Tgasisi o STLSISULHT i THIeH o gl TSI i Iooid
HioT | fhEl afqued ddicH 31YET 3Tcqidehiad ¢dled  aTal
LSSV | Taehi&d GATehUT SAa-1e™ &1 2ld & ¢ Teh bl
§qrgy | 2

State any two characteristics of the tapetum, present in the
microsporangium of an angiosperm. Why are non-viable
pollen grains seen to develop 1n a microsporangium where
tapetum 18 damaged or under developed ? Give a reason.

7. T4 H Tceh &l Teh 3T TIRaT 2
(37) E1.TH. T, hl ZHIHEH $hl3 o SHIeIE Tujeh AT HeetEH T H |
(§) =I<hoh (TEFAM) TAT 3TS<heh (M) ST 3ThT T |

Write one difterence each between

(a) Template strand and coding strand 1n a transcription unit
of DNA.

(b) Exon and intron gene sequences.
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8. UkehHdl (TEhUIHH) oh LUl shl Yl SHTST | 38 T o HhHUI
fUY o i3 QI UM FATST Sehl GTa AT T AN bl T

T | )
GG

Tes gfaeer 3utfoia ufeeen @ fpa SR g & 7 &I @ 37
TTRgU |

List the symptoms of Ascariasis. Mention any two preventive
measures you would suggest to a local population against
contracting the disease.

OR

How 1s innate immunity different from acquired immunity ?
Write any two differences.

9. STINTAT (TAIES)) I & 7 TS § T STHT—hIHEH 34T
PR dan s f-smiEEm U TR % shgh-UEd

(hiEeEy) folkau | 2

What 1s Aneuploidy ? Write the karyotypes of an autosomal
and sex chromosomal disorders 1n humans.

10. “GE&T 3MUTHG TRive Tl 39EAT § 31Yar 3dd o 8 9ohd & |
Tch oh Ueh—Udh 3CTa0] ohl TRIdl ¥ SATEHT <hifoIT | 2

“Pyramid of number can be upright as well as inverted.”
Explain with the help of one example of each.
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SECTION - C

11. 3F-eh! ISHIT 91T A TTULATVT ol BdlcHTigd hid o ol AT YT
1Y Taehiaa fohT &, 1 ? Iidl | UE g1 9fg: S+ g1 hl auH
HITTT | 3

Why many flowering plants have developed devices to
discourage self-pollination ? Describe any two such out
breeding devices 1n plants.

12. f=feiRad At &1 3T 9a1su 3
(37) el ol Ueh IRl %l AT 3TN SHd %l shal Sdl & |

(&) Fa fo=e & uErd & foasfad aan 8, W 39 el B
8 2 |
(F) 3TE bl &S Tgeiorasil a1 Teqg {9 & |

COCH
‘St SATFASI ST Shl 3THeh ATH FEATIAd ohid & |7 ST HINT |

Justity the following statements :

(a) Banana 1s categorized as true fruit and a parthenocarpic
fruat.

(b) Apple fruit develops only after fertilisation but 1s
referred to as a false fruit.

(c) Castor seed 1s dicotyledonous and albuminous.
OR

“Seeds offer several advantages to angiosperms”. Explain.
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13. TIFEMEO § A0 HARTAT (t-3FRTAY) shl YHebT IUE hifaT |
3T hgieh! Sl H T3S 9 ohl HHIVI gl aldl & ? 3
Explain the role of t-RNA during translation and where does
peptide bond formation occurs 1in a prokaryote ?

14, STfeA =T YTehicish ST shT TG AR 9TRA= H idstiaes Tiaue
digehl shl GE&AT H Jig shl AT TohH ThR AT B 7 3

How does Darwin’s theory of natural selection explain the
increase 1n the number of antibiotic resistant pests in our
ecosystem 7

15. Tl = 9= = f&fS= =IO 1 9uE shifsie S IRumResy
ST TG’ b1 JlduTe 8311 | 3

Describe the various steps of Griffith’s experiment that led to
the conclusion of the ‘transtorming principle’.

16. FAMTT Garesh () T § ? UH T AAN ol GUM hiTolT Tolehl
ITAIhdl Ueh HaTash (Aee) T Tl ol TH & H 2l & | 3

What 1s a cloning vector ? Describe any two features that are
required to facilitate cloning into a vector.

17. Sa-Mefirehl ST s T SitAT @el & YUehl Ud foer= o
HETIh TAohriloh oh] ATH TeTRIT 25T IHhT IUM HITT | 3

Name and describe the technique that helps 1n separation and
1solation of DNA fragments for biotechnology experiment.
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18. IARmhd: ®u@id Sid (G.M.O.) w1 &8 ? g g b
JTATATAT §dT8U | 3

What are Genetically Modified Organisms (G.M.O.) ? Write
the usefulness of G.M. plants.

19. (31) 92l W S 6l I T S Tfererdl o 99 8 37 deh S 91
STl o SAT9%h (ol bl geAT & bl & | A I Sal
I Tid W 8 98, T hl 98l 9131 ¥ fhd IR
fm g 3t 1 ?

(&) T54 &= ° S -Tafawdt w1 819 &1 o1 8 Ik &1 SaRuTTHT
3@ hiTwTT | 3

(a) Since the origin and diversification of life on earth there
had been five episodes of mass extinctions. How 1s the
sixth extinction presently in progress, different from the
previous episodes and why ?

(b) Mention any two negative effects ot loss of biodiversity
in the region where 1t occurs.

20. 39 ¢ H A IAGT FgH b [T 3ThTe-eh 3T FISh-TeM bl
ek IUFNT TR ST &1 8 | 39 UGld s RO I & JdqH
UEAT3T h1 3ot ShIfTU | 39 THEAT3TT oh GHIHM o [T hig ST
AT AT A8 hd 9 7 ? 3
Increasing amounts of morganic fertilisers and pesticides are
being used for enhancing crop yield in our country. List any
two current problems arising from this practice. Suggest a

method that can help in overcoming these problems and
how.
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21. Al H Th IO I1gT i ITH T Hdh Ta9- fhd TR TEH
2 7 Sndeh GIH g HHEA M & h1S &1 o feafia | 3

How does tissue culture help i growing explants into
independent plants 7 Write any two advantages of growing

crops by tissue culture.

22. YTehideh STl Hidl H JaTigd i & Yd difed H digd Sl bl
fgdiareh / Sifersh IU=T kT AU HITWT | 3

Describe the Secondary/Biological treatment given to the
sewage water before 1t can be released into natural water

bodies.

dlig — ¢

SECTION -D

23. B T g Tl ey sfiaq & foTg g Y ot U aEwequl
Fh 2 | < I | g ! OrEdT H B I Ush ST HRIT JTa-l
g0 BH el UGN 2 | 4

(37) 3794 I Gk TN H 394 6L H I TGU0T hH Hid o6
foTT 59 SITRT o @ adieh §d1sy |

(§) GraST<eh YNEE, 9] Ud SAhTd 18-l H JhR | T St aeT
a1 gd Uit o IATT sl TicHTiad L &l &, 1 7

Good air quality 1s one of the important factors for healthy
life for young and old alike. Vehicular pollution 1s one of the
major causes of deterioration of air quality 1n big cities.
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(a) List any two ways in which you can try to bring in
awareness amongst the students of your age group to
reduce air pollution 1n your city.

(b) Why 1s the Government promoting use of CNG/unleaded
Petrol as a fuel for public and private cars, and buses
etc. ? Explain.

g - §
SECTION — E

24. (37) H=TIRgd § Tk o Teh 380N <hl TaRIdl & Topd] fafyre
TEE H & 9T el # 89 dTedl 9T ieh ST shi sare

ﬁﬁl@: -
(1) 9X9euT
(i1). EaEl

(9) ‘TRl =1 fam s g8 gdy 8 | U 3IE0 i
HgIal U 35T 3T ddTsy |

COCH

Teh A SR § Mfes 3 a0 fohm TR Sgufad g
foerfa g 7 STEREYT o Y TR W 3gufad Nl 1 Teh
3STELUT G | 39 TehR o TIshHYT bl 31T fopd 0 | YR 7

(a) Explain with the help of an example each, the following
interactions that arise between the organisms living 1n a
particular habitat.

(1) Predation

(1) Competition
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(b) “Evolution of ‘mutualists’ 1s tightly linked. > Justify with
the help of an example.

OR

How does the primary succession occur and progress 1n a
newly created pond ? Give one example each of the
plants appearing at different stages of succession. What
would you call this type of succession ?

25. (31) “SAeISIT b1 HTGTATHEhIG G (YUTshIeT) Teh |G hIIATeh! qT
3713 shegehl aTct] @1 8 |7 3Ny sarsu |

(&) Sredsiisrl H grat HY= shi ST shilaTy | 5
37T
(37) OHE T Ihoi-H a7 TS bl T4 o HeH T T9Ug shifod :
(1) 39YshHUT bl THY
(i) STUTHh I[EhehliRehT TYAT TUTHS 31Sh GRI Icdd JHohI

ol gt
(111) 3T~ Heh ohl JATHI
(9) Sl a7 eSS § Th TH T d°T T T ohl b
fTRaU |

(a) “The female gametophyte of an angiosperm 1s a seven
celled, eight nucle1 containing structure. ” Justify.

(b) Explain double fertilization 1n angiosperms.

OR
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(a) Differentiate between spermatogenesis and oogenesis 1n
humans with respect to :

(1) time of their mitiation; (1) number of gametes
produced by each primary spermatocyte or primary
oocyte; (111) size of the gametes produced.

(b) Write the role of F.S.H. and L.H. 1n regulation of
spermatogenesis and oogenesis.

26. TH.TA. THR o GRT TohT T G kT FUM ShHITSTT qUT gl T Saq
hl It shl THSH H $Hh! YfHehl shl SITEAT ShITIT | 5

AT

TR e <hl i Ui T fererand fafgu |

Describe the experiment conducted by S.L. Miller and write
1ts contribution towards origin of life on earth.

OR

Write any five salient features of genetic code.
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